S
o
(@)
d
@ u— @
€ m £ o £ £
£ ~ = o0 ) ~ £
= < c 3 5
| 5 o S
oL S 5 o
(/ L
Wi/ ww/ €g Y WwT'9.T wwz 9T Wy
e e e e e e e e e e e e e s o
S WWGET ~ 3
X <
z ~Twwgr |~ wwot 5
2 &
© <Q
< 2
— m M £
o m T _ €
n = - ] =~ b R
4 m W A
O o =
@ ]
— M
——
Q
3 .
— o 3 1
= \
/
\\
() /
= /
c . Y
S 5 "
[a'4 = S
c - ] S
— (a'd =
— I oD
-l ©o
m ~ i ) -
hZ 2 £ wiiog
c = 2 3
T T £
— | L °
(o]
L
. PP A
7mm 33.7mm 176.1mm 16.2mm [7Tmm
mW\\ — fany
€ o c N
gl | o c £
E 5 e ° S §
< Y— :
ot " S ¥ Al
()
=
(7p)
v3ac SSaUX2IY3 J00p 40} *J00PINO 0} J00pUI WOJJ *A1991102 3]0y (W) 03 3Jeys A3y Wasu| (210N
oaxvs_«.mw mQE.ﬂmW ¥ZXSW HO smaJds ajeridoadde asn s Heys ajpuey pasu| (ssauppIL Joop Jod se 3z1S Jay30 0}
= VA 0LXSIN HE - WWO6 @) padueyd aq ||eys 0EXSIN He)
v3s vaz V3IE 09XSIN HL - Wwwog~0L @ "'SM3JIS TXYL HA X1}
JNN 9T-9T/€ H4 % TIXSW HO V3E 0EXSI HE | WWos~0y © UBY}IS11 SMBIS OEXSIN HE X1 3¢
ssauydIyl 100q
®
(vac)
ONN 9T-9T/€ HA
(vae)
(va2) \W\J 6TXvL HA
VIXSWHO [
i o8 (vat)
Co OTXYW H4
=2 O =
W h 5 OTXYW H4 . .
: <
(vat) \
0EXSIN He i
- W— |y
TIXSIW HO — 1
— - (vae)
Co—+= = INN 9T-9T/€ H4
(vat) @
6TXYL H4
|| o ]
joeg jaeq J0j joxdeid OSIMON Juo.i4

(0S¥9-IW)MaIA papo)dx3 uoljejjeisu|



How to install - 1(Mortise Lock)

/\ Notice

9 Installation method for left handed door and right handed door is same.
® Before installation, adjust the direction of latch bolt and striker as per door opening direction.

= Change latch bolt direction
@9

N
N

RH LH

1. Rotate latch bolt.

2. Confirm the direction of latch bolt and
fix plate using FH M4X10, 2 EA.

= |[nstall mortise

1. Insert mortise to side of door and pull out cable
toindoor.
2. Fix the plate using FH 3/16-16 UNC, 4EA.

o

N

FH 3/16-16 UNC 4EA

Outdoor

Indoor ‘
L

= How to reset the direction of handle

1. Push down the handle direction changing lever
which is located inner side of each cabinet

Y

2. Push down the handle direction 6
changing lever which is located
After push down, the handle _
direction changing lever and M
rotating the handle in the desired
direction from the handle v/ \
turned back to the center,  ( \
it will be fixed with a "click" sound. LJ

)

= How to open the deco cover
(Indoor side)

1. Put the coin or finger
in the hole and
lift the deco cover.

2. Remove the deco
cover along
the handle.

1.

ouT

2. Insert handle shaft to rectangular "Handle shaft hole"

How to install - 2(Product)

Insert handle shaft from outdoor to indoor and fix
stop ring to the hole on indoor side of handle shaft.

1

T

Outdoor

of installation template and stick the template to
indoor side. Fold the template along th folding line.

. Fix the exact position of template and mark the drilling

position for hole making. Change direction of template

7. As per door thickness, cut the key shaft refer to the below
table. Confirm the cabinet is not jammed and fix the front &
back cabinet by screw.(BH M5X30, 3EA)

BH M5X30
1EA
BH M5X30
2EA
—@—0
Door Thickness Key shaft Door Thickness Key shaft
40 mm i C—— 90 mm [EC—— o G o)
50 mm 2 100 mm T g
60 mm 3 110 mm
70 mm Y [E—— 120 mm
80 mm [ [ —

Notice) 1. Insert key shaft to hole & correctly.
2. Please cut key shaft according to the thickness and condition of door.
(If the key shaft touches the bottom of the ® hole, a malfunction may occur.)

and mark the drilling position on opposite side in same way. g Connect two cable to back cabinet exactly.

Make indoor hole Make outdoor hole

N

Mark drilling
position

Hole of
handle shaft

Folding by 90 degree and
stick to door surface

Make sure that folding
lineis vertical

. Make hole as per specfication. (232)

. Set the direction of handle on front cabinet, pull down

the handle to aimed direction until it is fixed with
click sound. (Refer to instruction of " How to reset
the direction of handle ")

. Put the cable of front cabinet through hole(@ 32) to

indoor. Pull out the cable from front cabinet and
mortise lock cable through the hole of back cover.

Open the deco cover of back cabinet and fix using screws.
(Upper side OH M5X11, 2EA / Lower side OH M5x24, 2EA)
* Refer to instruction of " How to open the deco cover(Indoor side) ".

)

OH M5X11
2EA

Cable from
Front cabinet

Mortise lock
cable . L=
Cable position ==
9. Close the deco cover & O
battery cover after installation. || o
. \ OHMsX24 T
& Check operation of product 2
Back cabinet Mortise lock =
—

» | |=

- -

=

O Pull down
When you close door,

%
it’s locker automatically.

™ Checking point after installation

Deadbolt and latch
bolt are go inside

= Insert batteries correctly and do open/close test atindoor.
= Register secret code a per user manual
Factory setting : Normal mode, secret code "0D@@@5)®)"


hkim2
스티커 노트
핸들 방향변경


